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L BEkIk (simplex method) J G.B.Dantzig (1947) B IVRNAEK

‘ RRiE (interior point method) JN.Karmarkar (1984) - WHAMEE (f7 5% E)
! max. ¢'x min. b’y

X3 st Ax=b st Ayts=c
x=0
NewtonFF2=
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S O X|4s d
t
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Coffee break simplex ?

Def. Let 8 be an arbitrary set in E,. The convex hull of S ,denoted by
H(S), is the collection of all convex combination of S.
In other words, —x € H(S) ifandonlyif x=3k_,4x;

T =14=00¥)

xj € S(V))
Def. The convex hull of a finite number of points x,,...x,.; in E, is
called a polytope.
Def. 4 collection of vectors x,,...x, in E, is considered to be
linearly independent , if y*_ 3;x; = 0 implies that 1,=0 for all j.
Def. 4 collection of vectors x,,..,x,.; in E, is considered to be
affinely independent , if (x,-x)),..,(x,.; -x,) are linearly independent .

Def. Ifx,,...x,,,; are affinely independent, H(x,,..,x,.,) is called a
simplex with x,,..,.x; .

¢f. M.S.Bazarra, et. al. "Nonlinear Programming” Wiley(1979,1993)

Coffee break simplex ?

The regular n-dimensional simplex

¢f. J.Matousek, et. al. "Understanding and Using Linear Programming” springer(2000)
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max. 15x1 +13x, min. 5y, +7y,+17y;

P)| S t. ;+ 3, =5 . NO) (D) s.t. y,+3y,+11y, =15
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[max. 5x,+ 2x, + 4x;
()| St 2x,+ x, = 3x; =5
~4x;+3x, = 2x; =-2
3, -2, + x; =4
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X, X, x=0

M xt 7E
« IV EHE
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4x,+3x, = b5y, + 21y,
ARYILD
Imax. 4x, + 3x, min. 5y, + 21y,
P st x,;+x,=5 (D)s.t y+5,=4
5%,+3x, = 21 v;+3y,=3
xp x%=0 v ¥,=0

- ZIEBA
4x, +3x, < (y1 +5y2)x1 +(y1 +3y2)x2
= (xl +x2)y1 +(5x1 +3x2)y2 <5y +21y,

—seizix... €)
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Tz 9fE (x,.x,), (,0) TRDITBHILE.
. (=i

uﬂﬁ)ﬁﬁi% (simplex method) W i), (i) =LoD, (ii)DEITET
=S E

b}li‘\fiﬁi;’f (dual simplex method)l (i), (ii)&i#=L2oD, (NDHILTRT ryfation
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FREH
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FRE(P) EXXIEIZE(D) DEATRIRERE (x, X)),
;) B (P), D)DREBETHA=HDBE+S

%1¢(iv {xl(y1+5y2—4)20 {yl(S—xl-i-xZ):O

% +3y,—3) =0 '|»,(21—5x +3x,)=0
ARILTHETHD.
max. 4x; + 3x, min. 5y, + 21y,
P)|st x,+x,=5 (D) st y+5,=4

(GET) Pk Qrimaldualp)g) . (VERTLSD, (iORITHT LRE5D
—mtizix... €)

5x,+3x,= 21 y;+3y,=3

X, x=0 Vi 1 =0
= SRR —eraiziz... €
JEE5:

o I TEH
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Imax. x,+3x,+ 2x;
()| St 4x, +2x, - x; = 8
3x,— 2x,+4x; =10
X, X, x=0
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1 2 3 @
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x1| o[ 1] o[~e5] 03[ o -o] o] 390 780
s2| o o] o 35 -0 1] -1 o] 1670| 477.1429
o o 1 —o[ o[ 06 O] 80| spavdal
s4] 0o o] of65) —1] o] 04 1 2970
Z | xl | x2|x3|sl1|s2]|s3)|s4
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A of o of i -of ol o1 024569/

A%t 8 : — iRy E
-xmmEEe) )« mxtpgm o) 2

max. ¢,x; +...+ ¢,x, min. by, +...+b,v,,
< ) > .
S.ta;x,+..+ta;,x, = b, S.ta,y,+...%a,y, = ¢,
< >
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Xp ooy x,=0 RRJTRE ym/z 0
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n m
chxj < Zbiyi
= i1

z
max.y c,x;
J=1

Q) min.lZ::b,yZ (D)
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Jj=1
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- WX EE
E R (P) ICRERE X" -1, DEETDELIE,
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=) i1
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n

- 58§
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= A\ il
= Z(Zaijijyi < zbiyi
A i1

vj)
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max.zllcjxj
F

)

min.ib,y‘
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@)

st ayx, <b, (i=1---,m) st Z“u')’.-zc, (j=1-n)
=

¥,20 (i=1---,m)

x;20 (j=1-,n)

b gIEEﬂH% U

M xt T H
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ESGE
xj(Za,.jy,. —¢;)=0 (i=L---,m)

yi(bi _za;‘/‘xj)zo (j=L--,n)
=

EFE x, (=1, Y,

DRI TELETHS. ]
max. 3 c,x, (P) | [min-2b (©)

x,20 (j=1n)

s.t. Za‘/xjsb[ @i=1---,m) e ’;avy,ch (=1-n)
= ¥,20 (i=1---,m)

- SEBAES

()~ (i) ETEH=T
x; (i=1,...,n), y; G=1,...,m)

o (MFFE D) E - WA IRFETEEEEREC L
(|) Zai/.xjﬁbi (i=1--,m), x,20 (j=1---,n)

(ll) iai/inC, G=1-n), 320 (i=1--,m) | BARITAMEH
i=1

(iii) xj(;af/yi_cj)zo (i=1’-..’m)

-3 TR

y;(bi_zai/‘xj)zo (j:].,“‘,n)
=YX (1), Y, G-1.mERDITHTE.

[ () BKE (simplex method) 1 (i), (ii)Zz#&H=L2D, (i)DHIITRT

ERES
). (i)z
oYty AN A
mENY
I—3av

(ﬂi‘\fﬁ‘iﬁi;ﬁ (dual simplex method)} @ii). (iii)Z#&=L22, (VDHITKT

f(IiXi‘]‘)W)ﬁif (primal-duauPMﬂ (). (iDZ#E=L2D, (ii)DHILTRT
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